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STRUCTURED AND ESSAY TYPE (TIME: 2 Hours)

Answer all questions in PART A
Answer to the structured questions in PART A must be done in the spaces provided'

Answer only Three questions from PART B

Answers to Essay tvi" q"*tions in PART B must be done on the answer books

A11questions carry equal *1k-t
Only non-programmible calculators are permitted'

tvtoUile phones are NOT permitted'

PART A: STRUCTURED TYPE (ANSWER BOTH (2) QUESTIONS)

(40 marks)



7

(ii) What is meant by command-and-control approach? What is the importance of it?

(40 mnts)
(iiD List down 5 chracteristics of compormds that meet fte criteria of being gro€n.

(20 marks)



(40 rnarks)

(ii) Atom economy can be enhanced by reducing intennediate derivatives. Draw a suitable

diagrarn to explain.

02. (i) What is meant by atorn economy?

(60 marks)



PART B: ESSAY (Ansrver All Ouestions)

01.
(i)"Green chemistn'is sustainable in tlanr \\a\s ..iustiti the statentent.

(ii) Hori dc'res green chemistrl airn to reduce nsk in the laboratory ) Erplain.
(iii) Discuss hou'the atorn ecrrnom\ is rnore beneficial rather than rield uith respect to sreen

chemistry?
(iv) Briefly describe the 3'd principal of green chemistry?
(v) How does the first principal affect to enhance the quality of the envirorunent? Explain.

(20x5Marks)

0l
tir ChltrrotluLlrr-)carbrrnS 3re g'tll'lSlrlL':ed is ltrll-Slceii a,-r:l:a -l:lJs. Dlsc';ss.

trit \\hat is the ereen rr)ule rrl :'.::r"Se:. icLel.ri..': Erp..:.r
1ii11\\}1 is electrolr::: tri r''::e: i;..eC jj: i:3i:. l:,'Je.s :i.:.::: -::L- :s.3"::.:3-...i:. :.>

(ir) \\-trat is meant br ionic iic-:csl Er:i"-: jsrn-g f,:. er.:tr.e
1r) \\hat are the applic:t:.-',its r'ri:.'1tc ,t;utis::. Sres: C:er.is:1 i

r a \{.-.-
- \-:_\: I

r,r-1.

ti t \\}at is the peicet:Jqc Crr:tpt\Stlttlt .-i c:.ci.l::t c,r:-:::. C-. iHCtl, r1 :: ::e :e .:'.:'. a ::-':-. 4

masses gl\'en a-\ Ca -it-).(-t. C 1l.t-t. H lg and O n.rtl
120 .\larks;

(ii) Consider the following two reactions of synthesizing HNO:.
NaNOs + HzSOt -----------) 2HNOy + Na$Oq
3NOt + H:O + 

'H,^/Oi 
+NO

\\'hich method is feasible itt tenlls of at..tll eCrrlloir\'l
t!,, \l":ks'

u+.
(i) \\hat are the properties of ScCO:? Explain 5 of them.

(ii) What are the commercial applications of ScCOz? List 3 of thern.

(iii) List down 3 limitations of using ScCOz.

(iv) What is meant by a limiting reagent?
(v) 120g of elemental Zn and 609 of elemental S are mixed & heated to produce ZnS. What

mass of ZnS is produced? What is the limiting reagent? Relative atomic masses of Zn:65.4,
S:32.0.

(20x5 Marks)
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